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How long is this in minutes ?

How many hours worth of oxygen in total would the crew
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How long is this in seconds? of 8 of the ISS have *

How many bags of 2.5kg potatoes equal the weight of
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Segment Tim’s spacesuit?
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How many bags of 700g carrots equal the weight of Tim’s

. spacesuit?

. On a map plot how far from where you live this would

51 yea_rs since . _ take you. Try different compass directions.
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| .S' SP‘AC.EWALKS TO DATE: 190

What would the combined weight of the spacesuits for all
of the walks be? (2 astronauts on each walk)

Stats taken from video: http://home.bt.com/news/science-news/tim-peake-the-first-ever-british-spacewalk-in-numbers-11364033775713




